Q18

+ Al resistances in the figure are in 2. Find the
Eﬁectl'\fﬂ resistance hEtW'EEn the pﬂintﬁ A ﬂlld B- [lm}

In the leftmost loop, two 3 Q resistors are conp-

ted i0 parallel to one 6 {2 resistor. Effective resis-
e of this loopis R=(3+3) | 6=6] 6=30Q.

t the same process for the next two loops to

thé effective resistance of the three loops (from left)

gels (1. Thus, the resistance across AB consists of two

ns resistors connected in series and one 3 §) resistor
) qnected in parallel, giving the cffective resistance

mp=0B+3)3=63=20.

Ans. 200 0



